30 3A/TAYH HA 30 E3UKA
Co3zonon, cenmemepu 2016

Yact A: Jlo HOMepa Ha Bcsika 3ajada rmocodeTe BepHUs crnopen Bac otroBop (A, B, C, D unu E). 3a Bepen
OTrOBOp MEYENUTe MO ST.; 32 HEMONbJIHEH N0 1T.; HESICEH OTIOBOP C€ MPUEMa 3a HEMOITbJIHEH.

1: 2: 3: 4: 5: 6: 7: 8: 9: 10:
11: 12: 13: 14: 15: 16: 17: 18: 19: 20:
21: 22: 23: 24: 25: 26: 27: 28: 29: 30:

33 31

Yacr B: B xosonata € 3aIMcaH e3UKbT Ha COOCTBEHHUS CH e3uK. B xonmonara “Pr.” 3anmmere Homepa Ha
3aja4yaTa, KOSATO CIOpel Bac € Ha e3uka BisBO (mo 1T. 3a Bceku BepeH orroBop). B komonara “E3uk”
HamumieTe Ha OBJArapCKd, PYCKH WM aHTJIMACKA MMETO Ha e€3MKa OT KoysoHa “*” (mo 1T. 3a BCEKM BEpeH
0TroBOp). JIBYCMHUCIIEH WM HEACEH OTIOBOP C€ NpHeMa 3a HETOIbJIHEH.

* Pr. E3ux / Language * Pr. E3uk / Language
English Svenska
Frangais Tiirkce
Deutsch Pycckuit
Italiano Polski
bwarapcku Espatfiol
MakenoHCKH EAAnvica
Portugués Shqip
Nederlands Slovencina
Romaéana Slovensc¢ina
Esperanto Cpricku
YkpaiHncbka Islenska
benapyckas Eesti
Hrvatski Cestina
Suomi Norsk
Lietuviy Magyar




[1] Resite enacbe z absolutno vrednostjo:

x+7]—x=7=x+1. A) x1=-13; x,=-1; x3=15
B) x;=-8; x,=1;x3=6 C)x,=-15; x,=1;x3=13
D)X1:*13; X2:1;X3:15 E)x1=715; X2:—1;X3:13
[2] Konky crenenm e aroioT moMmery majaTa W rojemara
CTpeJika Ha YaCOBHUKOT BO 8:26 yacot?
A) 94 B) 95 C) 96
E) Huty enen ox oBue 0AroBOpH

D) 97

[3] Laud ostsustati katta plaatidega 12x12 cm. Mitu plaati
laheb vaja, kui laua pindala on 2016 cm??
A)12 B)l14 C)16 D)18 E)20

[4] Sa drejtkéndésha (pérfshir€ katrorin) jané n€ kété figure?

A)180 B)184 (C)188 D)190 E) Asnjé ngakéto

[5] Onist mpountana kHUTY, B siKiii 160 cTOpiHOK, 32 TpU IIHI.
Iepmioro mxHs BoHa mpounTana 40% yci€i KHATH, APYTOTO JTHS
— 62,5% BiJ THX CTOPIHOK, IO 3aJUIIUINCH, & TPETHOTO JAHS —
perry. CKiUTBKH CTOPIHOK JiBUMHKA MPOYHTAIA TPETHOTO THS?
A)36 B)40 C)44 D)48 E)Konana 3 uux Bimmoimei

[6] Ene de rektangula kampo estas arbo. Gi staras je distanco
de 9m de unu angulo, kaj 22m de la kontraiia angulo. Gi estas
6m de unu el la aliaj du anguloj. Kio estas la distanco al la
arbo de la kvara angulo?

A)23m B)24m C)25m D)26m E)27m

[71 JBym xyomublkaM 1 TsImi I3sydelHKaM paznam 2016
BilllaHb TMapoyHy KoxHaMy. Konbki BillaHb aTpbIMaii
J3STYIBIHKA?

A)576 B)864 (C)1152 D)1440 E)Hianzin3ix

[8] La regione limitata di piano avente per contorno 1’asse
delle x e le rette y=2x+3, y=9—x e x=—1, ha area uguale a:
A)36,5 B)38,5 (C)42,5 D)44,5 E)Nessuno di questi

[Nio] Nio elever ska delas in tre grupper om tre. P4 hur manga
sitt kan detta goras?
A)220 B)240 C)260 D)270 E)280

[10] Az m és n pozitiv egészekre Inko(m;n)=21 és
m+n=2016. Hany ilyen szampar (m;n) van?
A)16 B)32 C)64 D)96 E)Ezek kozil egyik sem

[11] O produto de 99 nimeros naturais, ndo necessariamente
distintos, € igual a 2016. Qual é o maior valor possivel para a
soma desses nimeros?

A)2112 B)2113 C)2114 D)2115 E)2116

[12] Ermittle die Summe aller vierstelliger positiver ganzer
Zahlen, in denen jede der Ziffern 2, 0, 1, 6 genau einmal
vorkommt.

A)57996 B)59796 C)75996 D)79596 E)97596

[13] En un examen se proponen 14 problemas con la condicion
de resolver nueve de ellos. ;De cuantas maneras distintas
podemos elegir dichos 9 problemas?

A)1001 B)2002 C)3003 D)6006 E)9009

[14] Haiigure KOIMYECTBO BCEX YIOPSIOYEHHBIX TpPOEK
HaTypallbHBIX Yucen (X, y, z) Takux, 4dro xyz=2016 wu
xzy +yzz +z5x = xy2 erz2 +zx%,

A)9 B)I2 C)I5 D)18 E)24
[15] Kiek natiraliyjy skai¢iy pory (a;b) tenkina lygtj
a’b*=20"? A)4 B)6 ()9 D)I12 E)Kitas skaicius

[16] k ve n dogal sayilar, 2016!=7“n saglayan en biiyiik k
sayist kactir?  A)331 B)332 (C)333 D)334 E)335

[17] Ciferny soucet ¢isla 2016 je 9. Urcete pocet ¢tyimistnych
Cisel, jejichz ciferny soucet je 9.

A)110 B)165 C)220 D)330 E)495

[18] We glue together 2016 white unit cubes into a 9x14x16
rectangular solid; then we paint its surface blue. How many of

these 2016 cubes have exactly two blue faces?
A)136 B)140 C)144 D)148 E)None of these

[19] Konmko ca BCHYKH TPHBHH C 5 MBHHCTA, aKO BCSKO €
JUIIABO, PO30BO WM 057107
A)33 B)36 ()39 D)42 E)45

[20] De diagonalen AC en BD van trapezium ABCD (AB||CD)
snijden elkaar in het punt P. Wat is de oppervlakte van
drichoek ADP, als AD=BC=25, AB=19 en CD=5?

A)32,5 B)37,5 0425 D)47,5 E)52,5

[21] Soit m>n deux entiers positifs. Nous écrivons leur
somme, leur différence, leur produit et leur quotient. La
somme de ces quatre résultats est 99. Trouver m+n.

A)24 B)27 ()30 D)33 E)36

[22] Z grupy 6 chlopcow i1 6 dziewczat wybieramy 2 osoby.
Oblicz prawdopodobienstwo tego, ze wsrod wybranych osob
bedzie co najmniej jedna dziewczyna.

A)16/21 B)17/22 (C)18/23 D)19/24 E)Zaden z tych

[23] Olkoon x; ja x, yhtdlon x*—5x=9 ratkaisut. Mitd on
x’+x,°?  A)4l B)42 ()43 D)44 E)Mikiin niistd

[24] Iac je Be3aH kaHATIOM JyKHHE 16 M 3a yrao npaBoyraoHe
srpane unje cy maumensuje 10m u 8 m. [IpubIMmKHO KONMHMKO
KBaJIpaTHUX MeTapa je MOBPIIUHA MO KO0jOj Mac MOXe Ja
ce kpehe? A)602 B)642 C(C)682 D)722 E)762

[25] 1 en rettvinklet trekant ABC er vinkel ACB=90°. Sirkelen
med 4C som diameter har areal 1039, og sirkelen med BC som
diameter har areal 987. Hvor stort areal har omsirkelen til
ABC? (Omsirkelen til ABC er sirkelen som gar gjennom
punktene 4, B og C.)

A)52 B)62 (C)2006 D)2016 E)Ingen av disse

[26] Un numar natural se numeste bun dacd este multiplul
numdrului divizorilor sai (spre exemplu 2016 este bun
deoarece are (5+1)(2+1)(1+1)=36 divizori si 2016 este
multiplu al lui 36). Determinati cel mai mare numar bun care
este mai mic decat 2016.

A)2015 B)2014 C)2013 D)2010 E)Alt raspuns

[27] TI6cot amd Tovg Tp@TOLG 2016 BETIKOVG BKEPALOVS EYOVV
Swpopetikd ynoia (cov 69, 308 kot 2016, oArd 6yt cav 313
kot 2009);

A)1234 B)1238 C)1242 D) 1246 E)Kapio and avtég

[28] Fyrir runu rauntalna a;, a,, ... er gefio ad a,.3=a,—a,—

fyrir n>2. Hver er mesti fjoldi M samfelldra talna i rununni

sem allar eru jakveadar (a; >0, a2>0,..., ajr>0)?

A)5 B)6 C)7 D)8 E)Ekkertafpessu

[29] Pre nezaporné disla a, b, ¢ plati a+b+c=1. Urcte
1 N 1 N 1

a+1 P+l A+l

A)24 B)2,5 (C)2,6 D)2,7 E)28

[30] Na koliko se razli¢itih nac¢ina 6 ploha kocke

moze obojiti ako imamo Cetiri boje, a isti nacini

bojanja su oni koji se mogu rotacijama dovesti do poklapanja?

A)240 B)360 C)480 D)720 E)Nijedan od tih

minimalnu hodnotu vyrazu




